GartengeschoBb M 1:100
Haus Aund B

1 Zimmerwohnun 0.l
Diele 1,885 x 2,51 = 4,73
3,125 x 1,135 = 3,55
0,50 x 1,26 = '0,63 2 8,91 qm
Bad 1,76 x 2,385 = 4,20
il 1,625 x ©,25 = 0,41 = 3,79 gnm
Schlaf - und 5,26 x 4,385 = 23,a7
Wohnraum 1,885 x 0,625 = 1,18
Kochen 2,385 x 0,625 = 1,49 = 25,74 qgnm
Terrasse 3,635 x 2,00/2 = 3,664 gm
Abstellraum 0,75 x 1,76 = 1,32 qm
= 43,40 gnm
/. 3% flr Putz = 1,30 qm
1 Zimmerwohnung 0.2
Diele 1,26 x 1,125 = 1,42
1,885 x 3,51 = 6,62 .
of . 0,5 x 0,115 = 0,06 = 7,98 qm
Abstellraum 1,81 x 1,76 & 1,78 qm
Bad 1,76 x 2,385 = 4,20
o 1,625 x 0,25 = 0,4 =z 3,79 ga
Sehlaf-und 5,885 x 3,76 = 22,13
Wohnraum 1,885 x 0,625 = 1,18
Kochen 1,76 x 0,625 = 1,lo = 24,41 qm
Terrasse 3,76 x 2,00/2 = 3,76 qm
’ = 41,72 gm
/. 3% fir Putz = 1,25 qm
= 40,47 gn
1 Zimmerwohnung 0.3
wie Wohnung 0.2 = 40,47 qm
1 Zimmerwohnung 0.4
Diele 2,25 x
2,385 «x
sl 0,50 X £ 8,77 qm
Bad 1,76 x & 4,20 qm
Schlaf~und 5,885 x
Wohnraupm 1,885 x
Kochen 2,385 x = 28,48 gn
Terrrasse 4,385 «x 2,00/2 s 4,39 gm
= 45,84 gm
/. 3 % flr Putz = 1,38 qm
44,46 q
w B

<4,
"1 Zimmerwohnung 9,5

Diele 1,135 x 3,51 B 3,98 qm

Abstellraum 1,0l x 1,76 = 1,78 gm

Bad 1,76 x 2,385 = 4,20 gm
Schlaf - und 5,76 x 4,385 = 25,26
Wohnraum ./. 0,50 x 1,375 = 0,69
- 1,135 x 0,625 = 0,71

Kochen 1,76 x 0,625 = 1,10 = 26,38 qm

Terrasse 4,385 x 2,00/2 = 4,39 qm

= 40,73 qm

o/ 3% fur Putz = 1,22 gn

1 Zimmervohnung - =

Diele 2,375 x 1,26 = 2,99
1,885 x 3,51 = 6,62

ofs 0,50 x 0,115z 0,06 = 9,55 gm

Abstellraum 1,0l x 1,76 s 1,78 gm
Bad 1,76 x 2,385z 4,20

of 1,625 x 0,25 = 0,4} = 3,79 qm
Schlaf-und 5,885 x 3,76 = 22,13
Wohnraum 1,885 x 0,625 1,18

Kochen 1,76 x ©0,625= 1,lo = 24,41 gm

Terrasse 3,76 x 2,00/2 z 3,76 qn

= 43,29 qm

/. 3% fir Putz = 1,30 gm

1‘Zimmarwuhnung 0.7

wie Wohnung a.2

1 zimmerwohnun a.8

wie Wohn'.ung 0.1

non

"o

41,99 qm

40,47 qm

42,10 qm
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